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QrET=T 397 :
G) g4l v Afard &1
(i) TG Y9T-97 4 31 J97 & &l IR @ - &, & § 3R T F fawifoa &1

(i) TUE 37 4 Uh-Ueh 3% It 4 F97 81 @IS T H 6 F97 & 198 T T 2 37 &7
& GUS GG 10 F97 A-dIT 3H F 81 @S TH 11 57 & [579 T FAH 4 3%
T &I

(iv) HTFAR FT FAT qfofd &1

General Instructions :
(1) All questions are compulsory.

(11) The question paper consists of 31 questions divided into four sections — A, B, C
and D.

(iii) Section A contains 4 questions of 1 mark each. Section B contains 6 questions of
2 marks each, Section C contains 10 questions of 3 marks each and Section D
contains 11 questions of 4 marks each.

(tv) Use of calculators is not permitted.
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Qug - A
SECTION - A

U9 HEAT 1 9 4 9ok Uk Y99 1 3k T g

Question numbers 1 to 4 carry 1 mark each.

1. U% IOR & Hq M el Afas & WY 60° FHT FHIV oA &1 ARG WG & g
SR § 2.5 . A U W, @ HIEl Hl A0 F0Q BT |

A ladder, leaning against a wall, makes an angle of 60° with the horizontal.
If the foot of the ladder is 2.5 m away from the wall, find the length of the
ladder.

2. k& fh9 A9 & faT@ k+9, 2k—1 T 2k +7 T FHR J& & HATE I 8 7

For what value of k will k+9, 2k—1 and 2k + 7 are the consecutive terms of
an AP.?

3. pfd 1 ¥ O F= at g0 & foig C W PQ Ts Tt Y@ &1 Afc AB U& =9
? q° LCAB=30°%, 1 ZPCA I wHifsq |

STPId 1

In fig.1, PQ is a tangent at a point C to a circle with centre O. If AB is a
diameter and ZCAB=30°, find ZPCA.

Figure 1
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52 Tl i oS! TR el T8 dI9 i TGl H 9 F1gosdl Teh Tl fehiell T4
ifgehar Ja wIfT foh Fehme T 91 7 @ ot 30 H1 ® SR T & TH 9T B

A card is drawn at random from a well shuffled pack of 52 playing cards. Find
the probability of getting neither a red card nor a queen.

Qg - d

SECTION - B

U9 G&AT 5 ¥ 10 Tk Uedeh U9 & 2 3 g

Question numbers 5 to 10 carry 2 marks each.

Tpfa 2 W ©h wq4s ABCD, O &g o1 91 & TR0 39 YR % TE €
=T¢ AB, BC, CD @91 DA 91 &1 saS: foigeli P, Q, R 991 S W T0% &idl 2|
f9g it fF AB+CD=BC+DA |

D R C

s g

A P B
5 2
In Fig.2, a quadrilateral ABCD is drawn to circumscribe a circle, with

centre O, in such a way that the sides AB, BC, CD and DA touch the circle at
the points P, Q, R and S respectively. Prove that. AB+ CD=BC+ DA.

Figure 2



6. TH THR < 1 e Ug YA ¥ 1 fag wife fF 39 25 of U5, 39 11 o
e H qH AT T

The 4th term of an A.P. is zero. Prove that the 25t term of the A.P. is three
times its 11t term.

7. STHfd 3 H U o g P9, O &g 7o r 550 o1t 99 W <1 Tauf W@ PT qen
PS @i=t M €1 afc OP=2r &, 1 SWisT foh LOTS=L0ST=30°
T

S

STIHIT 3
In Fig. 3, from an external point P, two tangents PT and PS are drawn to a
circle with centre O and radius r. If OP =2r, show that ZOTS=20ST =30°.

T

S
Figure 3

8. Tag mifs fw fog (3, 0), (6, 4) T (- 1, 3) T HATGATE THHI 3o & o0 T

Prove that the points (3, 0), (6, 4) and (— 1, 3) are the vertices of a right angled
isosceles triangle.

9. TMIPTAA Q, A2, —2) LT B(—7, 4) T THA aTcl TERES ol 39 YR U
#E R P, g A% a T Paw Q % fcenss 9 sifsr

Let P and Q be the points of trisection of the line segment joining the points
A2, —2) and B(-7, 4) such that P is nearer to A. Find the coordinates of
P and Q.
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10. x R’N (S do']rﬂq J2x+9 + x =13

Solve for x : \/2x+9 + x =13

Qg - 9

SECTION - C

U9 HEAT 11 9 20 dek TS U9 3 3k T g

Question numbers 11 to 20 carry 3 marks each.

11. 3 fag P(x, y) T3 A(a+b, b—a) 741 Bla—b, a+b) ¥ FACEY ¢, I &g
Hifse o bx=ay.

If the point P(x, y) is equidistant from the points A(a+b, b—a) and
B(a—b, a+Db). Prove that bx=ay.

12. TF VEEHR o0, 59 SMuR *1 55 5 9t aen S 24 I €, o | W
W R 3T YT I Tk dhR oqd, fSgent = 10 991 ®, & <1a fean s

N [o ¢ o [y 22
T IR Sd § forat SO a9 T R TvlﬁITrr?(w=7 eI )

A conical vessel, with base radius 5 cm and height 24 cm, is full of water. This
water 1s emptied into a cylindrical vessel of base radius 10 cm. Find the height

22
to which the water will rise in the cylindrical vessel. (Use 7= 7)
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13. Hfd 4 H O & o1 99 &1 =99 AB=13 91 € 991 AC=12 ¥ &1 BC &I
faamen o ¥ sHifeRd &F #1 SR A T | (7=3.14 TT )

In fig.4, O is the centre of a circle such that diameter AB=13 cm and
AC=12 cm. BC is joined. Find the area of the shaded region. (Take w=3.14)

Figure 4

14. 12 9 S A1 T e, Tk e gy doH R o 3 S fodn 5 g, foad

FD I 9 g1 AR e quidan I H 9 S €, 9 SRR o | 9

T 3% Tt 91 IS IA1 &1 AR od k1 SATE I hiTelT |

A sphere of diameter 12 cm, is dropped in a right circular cylindrical vessel,
partly filled with water. If the sphere is completely submerged in water, the

water level in the cylindrical vessel rises by 3% cm. Find the diameter of the

cylindrical vessel.

30/2 7 P.T.O.



15.

30/2

MM 5 | Th 2 9@ & S @ SHT W a1t T o TR T & | FATTHR
VT Y ST T AT A 2.1 W, 91 3 W, § a1 WA R 9 RSt S
2.8 . §1 <2 & T H T KA H YT JMA RIWC, AfG FHAAE HT W&

%5oosrﬁraﬁiﬁ%|(w=%ﬂ°rm)

SFId 5

In fig. 5, a tent is in the shape of a cylinder surmounted by a conical top of
same diameter. If the height and diameter of cylindrical part are 2.1 m and
3 m respectively and the slant height of conical part is 2.8 m, find the cost of
canvas needed to make the tent if the canvas is available at the rate of

T 500/sq.metre. (Use w= %)




16. 3THfd 6 W, T Ah=ra gui, ot oA 7 99} qon 14 99 € & o= R

. N ne ~ 22
DR & HT &ABA A HIFTT Felfh LAOC=40° T (w=" fSw)

In fig. 6, find the area of the shaded region, enclosed between two concentric

22
circles of radii 7 cm and 14 cm where ZAOC=40°. (Use w= 7)

17. T Afed Th TAIH & b, S O & &R F 10 . F=1 8, ¥ TH TeEl &
TG &1 39 R0 60° TAT TRIS! o A h1 STETHT HIV 30° U1 &1 TSl &
ST Y G0 AT URTE i AT §Id hiTST |

A man standing on the deck of a ship, which is 10 m above water level, observes
the angle of elevation of the top of a hill as 60° and the angle of depression of
the base of hill as 30°. Find the distance of the hill from the ship and the
height of the hill.

30/2 9 P.T.O.



18.

19.

20.

21.

30/2

T STl i TH HFTCHE T & ik THial S § § 991 391 A1 15 T 3Rl
H WM e R a9 el Hed Jd 9@ ¥ 594 ®H T HEA 9 Hif |

The digits of a positive number of three digits are in A.P. and their sum is 15.
The number obtained by reversing the digits is 594 less than the original
number. Find the number.

Ife fgomdt FHHRO (a—b)xZ+ (b—c)x+ (c—a)=0 % T AN ¥, 1 f9g HifeC
fF 2a=b+c Tl

If the roots of the quadratic equation (a —b)x2+ (b —c)x+ (c—a) =0 are equal,
prove that 2a=b+c.

52 Uil i 19 <1 g1 | 9 &Tel T sh A, STTH G S1eeg Hehret fefg ) 9
T W 9 Ao Tk g1 Threll T iiehdl Jd it T feRren @ o

(i) T HIcT JICYTE € (ii) Toh el 1 o1 =1 ® (iii) Tk hiell I ©
From a pack of 52 playing cards, Jacks, Queens and Kings of red colour are

removed. From the remaining, a card is drawn at random. Find the probability
that drawn card is :
(1) a black King (i1) a card of red colour (ii1) a card of black colour

WUE -
SECTION - D
U9 HEAT 21 9 31 deh U U9 4 3k AT ¢

Question numbers 21 to 31 carry 4 marks each.

el T § 98 91g o RO S9RI T oFR &1 T 50 faeneal 3 e T
TEHR F 1500 32 @M & U Tm 91 Feg 39 &1 g=4 fFa 99 g
faaTeT™ SR T 319EM M| Yk o2 1 el YN doHhR §, fSTdeh 3TeR
i 5= 2.8 Wi qom 9 3.5 W ®1 YH I 1 U N VE & SRR H
g o emum = == 2.8 . qen = 2.1 W ®1 3fg ¥ a W 9t A
%1 e % 120 Ufd a7 1. €, @ T faemed 51 $d 9 | SIRH A1 hifelT |

5 S 22
39 T% g1 i | Y SAd Bl § 2 (m=" s )

10



22.

30/2

Due to heavy floods in a state, thousands were rendered homeless. 50 schools
collectively offered to the state government to provide place and the canvas
for 1500 tents to be fixed by the government and decided to share the whole
expenditure equally. The lower part of each tent is cylindrical of base radius
2.8 m and height 3.5 m, with conical upper part of same base radius but of
height 2.1 m. If the canvas used to make the tents costs ¥ 120 per sq.m, find
the amount shared by each school to set up the tents. What value is generated

22
by the above problem ? (Use w= 7)

3Tt 7 ® < gOM o & 91, 9% &= 0 ad1 0' § Wem foig X T et 3
g1 00 9gH W O' &= a1t 9d &l foig A W Hed g1 fdg A ¥ 0 &= 9

TT W AC T I3 @1 § 921 O'D L AC R | g—o'wnﬂamﬁfwz|

sl 7

In Fig. 7, two equal circles, with centres O and O', touch each other at X.0O0'
produced meets the circle with centre O' at A. AC is tangent to the circle with

1

DO
centre O, at the point C. O'D 1s perpendicular to AC. Find the value of o

C

11 P.T.O.



23.

24.

30/2

@Sl 1, 2, 37U 4§ | SIg Gl x AGo3A1 AT T8 ad1 E&ASTi 1, 4, 9 941 16
T 9 hls G y AGoSAT AT T8 TTTIehal T P x TUT y 1 [OFHA 16 § HH
g

A number x is selected at random from the numbers 1, 2, 3 and 4. Another
number y is selected at random from the numbers 1, 4, 9 and 16. Find the
probability that product of x and y is less than 16.

a8 H Tk s ABC & 3% A4, 6), B(1, 5) @91 C(7, 2) T TH IWEE
DE oia3fi AB @ AC &1 %u9: fogafi D 99 E W 39 YR Hleal W= T ©

IED %=% = é 1 AADE &1 99%d J1d HIFSTT 91 39k AABC & &5%hd
Y g sifaT|
A4, 6)
D E
B(1, 5) C(7,2)
HlT 8

In fig. 8, the vertices of AABC are A(4, 6), B(1, 5) and C(7, 2). A line-segment
DE is drawn to intersect the sides AB and AC at D and E respectively such

AD AE 1 o
that AB_AC 3 Calculate the area of AADE and compare it with area of
AABC.
A4, 6)
D E
B(1, 5) C(7,2)
Figure 8

12



25. 3THfd 9 H, O &g 9l 0 &1 TH Fo@e OAP TR T € f9aH &g W
3TART 0T 0 1 AB g9 &1 5591 OA W @d & Sl OP & 9eM W fag B W

e 81 fag wifse fo Taifea sy 1 i » gane + sech + %—1@ 2

STIFId 9

In Fig. 9, is shown a sector OAP of a circle with centre O, containing [16. AB
1s perpendicular to the radius OA and meets OP produced at B. Prove that

. .. 0
the perimeter of shaded region is r %an@ + sech + % - IE

Figure 9

26. TH el W@ § feud =R W 1 9 49 9F 1 &AW (FHAHER) 3ffha €1 sy
for 37 siferd Tl § T UH e X o999 ® fh X 9 U'd 3T o9 W W
Hi Afora @l &1 M, X & 91 TNl 3ifohd TS & I & SR ¢ |

The houses in a row are numbered consecutively from 1 to 49. Show that there

exists a value of X such that sum of numbers of houses proceeding the house
numbered X is equal to sum of the numbers of houses following X.

30/2 13 P.T.O.



217.

28.

29.

30.

30/2

T A dre, ot fer 51 # =9 24 fodi/ser €, o/ & qfaea 32 TRt M
H, 98 g0 9 & TR S hi U 1 Hel ATy 9 ol 81 ¥R H A
A i |

A motor boat whose speed is 24 km/h in still water takes 1 hour more to go
32 km upstream than to return downstream to the same spot. Find the speed
of the stream.

T gAfgag ISl ABC &1 A1 hife {599 BC =5.5 91, a1 f5des 3 oe
AL &1 Tog 3 99t €1 TR ww o T #i W ifee fSget e AABC

) . 3 .
T A ST FT AW
Draw an isosceles AABC in which BC=5.5 cm and altitude AL=3 cm. Then

: . 3 : :
construct another triangle whose sides are 1 of the corresponding sides of

AABC.

fag wINT fob g & fodt fog W @i T8 Toel T w99f fog § g ST areft
e W A9 gt T

Prove that tangent drawn at any point of a circle is perpendicular to the radius
through the point of contact.

T TR WY & R 9, S 99g & a "X 9 100 W, 391 §, TF @™, =
YT YR WY 1 AR AT W €, FT FATTHT hI0 30° T TScTh 60° BT ST B

U & STqA § SId™ g TF &l T8 G 910 hitT | (V3 =1.73 FifeIT)

As observed from the top of a light house, 100 m high above sea level, the
angles of depression of a ship, sailing directly towards it, changes from 30° to
60°. Find the distance travelled by the ship during the period of observation.

(Use J3 =1.73)

14



31. T TH SIIAHR ek &1 911 § gt ISR S9! o 9 3 W, 1 g1 9Hh

30/2

&AhRA Yol § fHq gufgarg SIemeR ek {9t SUR STFaeR qTeh &1

HIelE & IUER T q¢1 SO 12 Wi, §, ¥ 4 o WX Afeh T AR Uk i

AdTE AR AISE I HieT |

A rectangular park is to be designed whose breadth i1s 3 m less than its length.
Its area 1s to be 4 square metres more than the area of a park that has already
been made in the shape of an isosceles triangle with its base as the breadth of
the rectangular park and of altitude 12 m. Find the length and breadth of
the rectangular park.
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